YEAR 10  Physics problems   (Deadline:  Sunday,  Jan. 26, 2005 via e-mail).

by Ms. Yuni yuni@a07jkt.bpkpenabur.or.id
Web on Circular Motion:  http://www.physicsclassroom.com/Class/circles/U6L2a.html
A. MULTIPLE-CHOICE

Do ALL of the problems from Marthen Kanginan’s  1A textbook:  

CIRCULAR MOTION (“gerak melingkar”).

B. ESSAY  (most of the English translations were originally done by Ms. Yuni herself)

(Do it in either  English  or  Indonesian,  or  BOTH—tg).
	         C

 

            .      B  
      D              

               A  
	1. A rope with 100 grams of  hanging ball  is

spun to form a vertical circular line (see fig. 1).  The radius of the formed circle is  .5 m.  The angular velocity is 10 rad/sec.  

Find:  tension in every  point:  A, B, C, and D.

   Indonesian: Bola bermassa 100 gram diputar sehingga membentuk lintasan vertical.  Jari-jari lintasan 0.5 m.  Kecepatan putar 10 rad/s.  Cari tegangan tali di setiap posisi  A, B, C dan D.


	2. It has the same condition with no.

1 above,  but in the new system,  it  has a horizontal circular line (see fig. 2).

Find:  tension in any position in the line.

   Indonesian:  Sistim/ kondisi yang sama dengan no. 1 di atas,  tapi tali diputar horizontal.  Cari tegangan tali (di posisi mana saja).
	
                .----------O


	R = 50 m.




	3. A car is moving along Puncak

Bogor roads.  The total mass of the car and the passengers are 700 kg. And the speed along the valley is 80 km/ hour.

Find:  the normal force when the car is at the top of the hill and at the bottom of the valley  (say the radius is 50 m).

   Indonesian: Mobil beserta penumpang bermassa total 700 kg. melaju dengan kelajuan 80 km./ jam.  Ketika sampai di lembah,  carilah gaya Normal di puncak bukit dan di lembah.  Jari-jari bukit dan lembah 50 m.


	4. A  500-kg. car is doing a turn in

one road turn with the radius of the turn 100 m. and the slope of the turn 30o.  The friction of the car with the road is  .2.

Find:  the maximum speed of the car without getting skidded off the road (tg)

Indonesian:  Mobil bermassa 500 kg. Sedang menikung di suatu tikungan dengan jari-jari tikungan 100m dan kemiringan tikungan 30o.  Koefisien gesek mobil dengan jalan adalah 0.2.  Carilah kecepatan maksimum mobil agar tidak slip. 
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